

Functional Difference Equations

A. G. Shannon*, Kenny Pruitt¹

*Warrane College, University of New South Wales

PO Box 123, Kensington, NSW 2033, Australia.

E-mail: tshannon@gmail.com

¹1910 Howell Mill Drive, Chattanooga,

Tennessee 37421, USA.

E-mail: pi153@att.net

ABSTRACT. The purpose of this paper is to generalize some results of Horadam and to extend some identities due to Carlitz in the context of functional difference equations. It includes an operator which yields a type of Appell-set criterion. Generalizations of Simson's identity occur as by-products and these are linked to some recent advances in the literature.

1 Introduction

The purpose of this paper it to prove two results to generalize aspects of Horadam's generalized sequence of numbers, $\{w_n(a, b; p, q)\}$, defined by the second order linear homogeneous recurrence relation

$$w_n = pw_{n-1} - qw_{n-2}, \quad n > 2. \quad (1)$$

with initial conditions $w_0 = a, w_1 = b$ [1] with fundamental properties [2,3,4]. Carlitz had also previously looked at some of the arithmetic properties of generalized sequences [5] and functional difference equations [6], and we build on some of his ideas here too. Table 1 illustrates the efficiency and effectiveness of Horadam's notation in placing these sequences in perspective for comparisons.

* A. G. Shannon

Received July 07, 2017; revised July 28, 2017; accepted August 04, 2017.

2010 Mathematics Subject Classification: 11B39.

Key words and phrases: Recurrence relation, Appell set, Fibonacci numbers, Lucas numbers and Simson's identity.

This is an open access article under the CC BY license <http://creativecommons.org/licenses/by/3.0/>.

a	b	p	q	w_n	<i>Sequence</i>
0	1	1	-1	F_n	Fibonacci
2	1	1	-1	L_n	Lucas
0	1	2	-1	P_n	Pell
1	3	2	-1	Q_n	Pell-Lucas
0	1	$x+2$	+1	$B_n(x)$	Morgan-Voyce Even Fibonacci
1	1	$x+2$	+1	$b_n(x)$	Morgan-Voyce Odd Fibonacci
2	$x+2$	$x+2$	+1	$C_n(x)$	Morgan-Voyce Even Lucas
-1	1	$x+2$	+1	$c_n(x)$	Morgan-Voyce Odd Lucas
0	1	1	- x	$J_n(x)$	Jacobsthal-Fibonacci
2	1	1	- x	$j_n(x)$	Jacobsthal-Lucas
0	1	x	+1	$V_n(x)$	Vieta-Fibonacci
2	x	x	+1	$v_n(x)$	Vieta-Lucas
a	$a+d$	2	+1	A_n	Arithmetic
a	ar	r	0	G_n	Geometric

More recent further generalizations relevant to the subsequent development in this paper include coupled and multiplicative Fibonacci sequences [7,8] and particularly the table in the second scheme [9: 331].

2 Notation

We define,

$$w_n(x) = \sum_{k=0}^{\infty} w_{n+k} \frac{x^k}{k!}, \text{ where } n = 0, 1, 2, \dots \quad (2)$$

so that we get the differential equation

$$\frac{d}{dx} w_n(x) = w_{n+1}(x), \quad (3)$$

and the difference equation

$$w_n(x) = pw_{n-1}(x) - qw_{n-2}(x), \text{ where } n > 2. \quad (4)$$

This is slightly more general than that studied by Carlitz [7], which is itself a generalization of the results of Elmore [8]. The general term of $\{w_n(a, b; p, q)\}$ is well known:

$$w_n = A\alpha^n + B\beta^n \quad (5)$$

where α, β are the zeroes of $x^2 - px + q$ and $p = \alpha + \beta$, $q = \alpha\beta$, $d = \alpha - \beta$, $E = pab - qa^2 - b^2$ and from the initial conditions

$$A = \frac{b - a\beta}{d}, \quad B = \frac{a\alpha - b}{d}$$

so that

$$E = ABd^2$$

Now, from (5) we define,

$$\begin{aligned} w_n(x) &= \sum_{k=0}^n (A\alpha^{n+k} + B\beta^{n+k}) \frac{x^k}{k!} \\ &= A\alpha^n e^{ax} + B\beta^n e^{bx} \end{aligned}$$

It follows immediately that

$$\begin{aligned}\sum_{k=0}^{\infty} w_{n+k}(x) \frac{y^k}{k!} &= \sum_{k=0}^{\infty} (A\alpha^{n+k} e^{\alpha x} + B\beta^{n+k} e^{\beta x}) \frac{y^k}{k!} \\ &= A\alpha^n e^{\alpha(x+y)} + B\beta^n e^{\beta(x+y)} \\ &= w_n(x+y)\end{aligned}$$

Horadam [2] observed that for $n = 0$,

$$\begin{aligned}w(x) &= w_0(x) \\ &= \frac{a + (b + pa)x}{1 - px + qx^2}\end{aligned}$$

This is a general case of what Long and Crawford observed as a “surprising new insight into the fact that the sum of the diagonal elements in Pascal’s triangle are the Fibonacci numbers” [9], namely [10]:

$$\frac{1}{89} = \frac{11^0}{10^2} + \frac{11^1}{10^4} + \frac{11^2}{10^6} + \frac{11^3}{10^8} + \dots$$

This can be extended to

$$\frac{a(s-p) + b}{s^2 - ps + q} = \frac{a}{s} + \frac{b}{s^2} + \frac{pb - qa}{s^3} + \dots$$

$s^2 - ps + q > 0$, which can be numerically exemplified with $s = 10$. Long et al [11] later also looked at some of the other related arithmetic properties of these generalized sequences. Theorem 7 of Falcon and Plaza [15] leads to an elegant generalization of this section.

3 Generalization of Carlitz

Consider next,

$$\begin{aligned}\sum_{m=0}^{\infty} \sum_{n=0}^{\infty} (w_{m+r}(u)w_{n+r}(v) - w_r(x)w_{m+n+r}(y)) \frac{s^m t^n}{m!n!} \\ &= w_r(u+s)w_r(v+t) - w_r(x)w_r(y+s+t) \\ &= (A\alpha^r e^{\alpha(u+s)} + B\beta^r e^{\beta(u+s)})(A\alpha^r e^{\alpha(v+t)} + B\beta^r e^{\beta(v+t)}) \\ &\quad - (A\alpha^r e^{\alpha x} + B\beta^r e^{\beta x})(A\alpha^r e^{\alpha(y+s+t)} + B\beta^r e^{\beta(y+s+t)}) \\ &= A^2 \alpha^{2r} e^{\alpha(u+v+s+t)} + B^2 \beta^{2r} e^{\beta(u+v+s+t)} + Ed^{-2} q^r (e^{\alpha(u+s)+\beta(v+t)} + e^{\beta(u+s)+\alpha(v+t)}) \\ &\quad - A^2 \alpha^{2r} e^{\alpha(x+y+s+t)} + B^2 \beta^{2r} e^{\beta(x+y+s+t)} + Ed^{-2} q^r (e^{\alpha x+\beta(y+s+t)} + e^{\beta x+\alpha(y+s+t)})\end{aligned}$$

If we take $x + y = s + t$, this reduces to

$$\begin{aligned}Ed^{-2} q^r (e^{\alpha(u+s)+\beta(v+t)} + e^{\beta(u+s)+\alpha(v+t)} - e^{\alpha x+\beta(y+s+t)} - e^{\beta x+\alpha(y+s+t)}) \\ &= Ed^{-2} q^r e^{px} (e^{\alpha(-x+u+s)+\beta(-x+v+t)} + e^{\alpha(-x+v+t)+\beta(-x+u+s)} - e^{\beta(-x+y+s+t)} - e^{\alpha(-x+y+s+t)}) \\ &= Ed^{-2} q^r e^{px} ((-e^{\alpha(-x+v+t)} + e^{\beta(-x+v+t)})(e^{\alpha(-x+u+s)} - e^{\beta(-x+u+s)})) \\ &= -Eq^r e^{px} \mathcal{U}_0(-x+u+t) \mathcal{U}_0(-x+v+t)\end{aligned}$$

in which

$$\mathcal{U}_n(x) = \sum_{k=0}^{\infty} \mathcal{U}_{n+k} \frac{x^k}{k!}$$

and

$$\mathcal{U}_n = u_{n-1} = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad (6)$$

for $\{w_n(1, p; p, q)\}$, Lucas' fundamental sequence [12]; and so, when $r = 2$:

$$\mathcal{U}_n(x) = d^{-1}(\alpha^n e^{\alpha x} - \beta^n e^{\beta x})$$

which agrees with Barakat [13]. That is, we have proved that when $x + y = u + v$,

$$\begin{aligned} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} (w_r(x)w_{m+n+r}(y) - w_{m+r}(u)w_{n+r}(v)) \frac{s^m t^n}{m!n!} \\ = -Eq^r e^{px} \mathcal{U}_0(u + s - x) \mathcal{U}_0(v + t - x) \end{aligned} \quad (7)$$

But since, from above,

$$\sum_{k=0}^{\infty} \mathcal{U}_{n+k}(x) \frac{y^k}{k!} = \mathcal{U}_n(x + y)$$

then

$$\sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \mathcal{U}_m(-x + u) \mathcal{U}_n(-x + v) \frac{s^m t^n}{m!n!} = \mathcal{U}_0(u + s - x) \mathcal{U}_0(v + t - x)$$

and on equating coefficients of $s^m t^n$, we get,

$$w_r(x)w_{m+n+r}(y) - w_{m+r}(u)w_{n+r}(v) = Eq^r e^{px} \mathcal{U}_m(u - x) \mathcal{U}_n(v - x)$$

When $a = 0, b = 1, w_n(x) = \mathcal{U}_n(x)$, and we obtain

$$\mathcal{U}_{m+r}(u) \mathcal{U}_{n+r}(v) - \mathcal{U}_r(x) \mathcal{U}_{m+n+r}(y) = q^r e^{px} \mathcal{U}_m(u - x) \mathcal{U}_n(v - x) \quad (8)$$

which is essentially the same as Equation (2.3) of Carlitz [9]. Equation (6) is effectively treated elsewhere in the context of some general k -Fibonacci sequences [15,17].

4 Generalization of Horadam

If we replace m by $-r$, the original r by n , the original n by $r + t$ in (7), we then find that

$$\mathcal{U}_{n-r}(u) \mathcal{U}_{n+r+t}(v) - \mathcal{U}_n(x) \mathcal{U}_{n+t}(y) = q^n e^{px} \mathcal{U}_{-r}(u - x) \mathcal{U}_{r+t}(v - x) \quad (9)$$

which is directly comparable with Equation (4.18) of [1], in which Horadam defines negative subscripts. Horadam's Equation (4.18) has the form

$$w_{n-r} w_{n+r+t} - w_n w_{n+t} = q^{n-r} E u_{r-1} u_{r+t-1} \quad (10)$$

in which $u_n = \mathcal{U}_{n+1}$. If we contrast (9) and (10) we see that E in the latter performs a role akin to e in the former, which makes Horadam's choice of ' E ' as symbol particularly apt. The analogy between e and E if we put $t = 0$ and $x = y = u = v$ in (7) and let as in [9] to obtain

$$\mathcal{U}_{n-r}(x) \mathcal{U}_{n+r}(x) - \mathcal{U}_n^2(x) = q^n e^{px} \mathcal{U}_{-r} \mathcal{U}_r \quad (11)$$

since $u_n(0) = u_n$. This is a generalization of Simson's identity [14] and is comparable with Equation (4.5) of Horadam [1], namely,

$$w_{n+r}w_{n-r} - w_n^2 = Eq^{n-r}u_{r-1}^2 \quad (12)$$

Other more recent and pertinent generalizations of Simson's identity may be found in [15] and [17; Theorems 9,10,11].

5 Further Extensions

We can also define

$$w_n^*(x) = w_n^*(x, \lambda) = \sum_{k=0}^{\infty} w_{n+k} \binom{x}{k} \lambda^k \quad (13)$$

Then $w_n^*(0) = w_n$, and

$$\begin{aligned} w_{n+1}^* &= \sum_{k=0}^{\infty} w_{n+k} \binom{x}{k} \lambda^k \\ &= \sum_{k=0}^{\infty} pw_{n+k} - qw_{n+k-1} \binom{x}{k} \lambda^k \\ &= pw_n^*(x) - qw_{n-1}^*(x) \end{aligned} \quad (14)$$

which differs slightly from the corresponding equation for h_{n+1}^* in [6]. Moreover, from (13) we define

$$\begin{aligned} \Delta_x w_n^*(x) &= w_n^*(x+1) - w_n^*(x) \\ &= \sum_{k=0}^{\infty} w_{n+k} \left(\binom{x+1}{k} - \binom{x}{k} \right) \lambda^k \\ &= \lambda \sum_{k=0}^{\infty} w_{n+k} \binom{x}{k-1} \lambda^{k-1} \\ &= \lambda \sum_{k=0}^{\infty} w_{n+k+1} \binom{x}{k} \lambda^k \end{aligned} \quad (15)$$

so that

$$\Delta_x w_n^*(x, \lambda) = \lambda w_{n+1}^*(x, \lambda)$$

which is not unlike an Appell set criterion [15]. Other recent analogues of extensions of Appell set criteria include Ernst [23] and Sadjang [24]. The latter expresses q -Appell sets in terms of the Hahn derivative and Fermatian numbers [25]. These in turn yield inequalities among products of Fibonacci numbers and their generalizations [26].

It shows that the power series in the definition of $w_n^*(x)$ converges for sufficiently small λ . From this definition

and the general expression for w_n , we obtain

$$\begin{aligned} w_n^*(x) &= \sum_{k=0}^{\infty} \left(A\alpha^n \binom{x}{k} (\alpha\lambda)^n + B\beta^n \binom{x}{k} (\beta\lambda)^n \right) \\ &= A\alpha^n (1 + \lambda\alpha)^x + B\beta^n (1 + \lambda\beta)^x. \end{aligned} \quad (16)$$

Similarly,

$$\begin{aligned} w_n^*(x+y) &= A\alpha^n (1 + \lambda\alpha)^{x+y} + B\beta^n (1 + \lambda\beta)^{x+y} \\ &= \sum_{k=0}^{\infty} [A\alpha^n (1 + \lambda\alpha)^x + B\beta^n (1 + \lambda\beta)^x] \binom{y}{k} \lambda^k \\ &= \sum_{k=0}^{\infty} w_{n+k}^*(x) \binom{y}{k} \lambda^k \end{aligned} \quad (17)$$

which is similar to, but different from, the comparable Equation (3.3) of [6]. Following Carlitz we write

$$\begin{aligned} &-qw_{m-1}^*(x)w_n^*(x) + w_m^*(x)w_{n+1}^*(y) \\ &= -q(A\alpha^{m-1}(1 + \lambda\alpha)^x + B\beta^{m-1}(1 + \lambda\beta)^x) \times (A\alpha^n(1 + \lambda\alpha)^y + B\beta^n(1 + \lambda\beta)^y) \\ &\quad + (A\alpha^m(1 + \lambda\alpha)^x + B\beta^m(1 + \lambda\beta)^x) \times (A\alpha^{n+1}(1 + \lambda\alpha)^y + B\beta^{n+1}(1 + \lambda\beta)^y) \\ &= A^2(-q\alpha^{m+n-1} + \alpha^{m+n+1})(1 + \lambda\alpha)^{x+y} + B^2(-q\beta^{m+n-1} + \beta^{m+n+1})(1 + \lambda\beta)^{x+y} \\ &\quad + Ed^{-2}((-q\alpha^{m-1}\beta^n + \alpha^m\beta^{n+1})(1 + \lambda\alpha)^x(1 + \lambda\beta)^y \\ &\quad + (-q\alpha^n\beta^{m-1} + \alpha^{n+1}\beta^m)(1 + \lambda\alpha)^y(1 + \lambda\beta)^x). \end{aligned} \quad (18)$$

Since $\alpha\beta = q$ and $\alpha^2 - q = \alpha(\alpha - \beta)$, $\beta^2 - q = -\beta(\alpha - \beta)$, this reduces to

$$\begin{aligned} &A^2(\alpha^{m+n-1}(\alpha^2 - q))(1 + \lambda\alpha)^{s+t} + B^2(\beta^{m+n-1}(\beta^2 - q))(1 + \lambda\beta)^{s+t} \\ &= A^2(\alpha - \beta)\alpha^{m+n}(1 + \lambda\alpha)^{s+t} - B^2(\alpha - \beta)\beta^{m+n}(1 + \lambda\beta)^{s+t} \\ &= A(b - \alpha\beta)\alpha^{m+n}(1 + \lambda\alpha)^{s+t} + B(b - \alpha\beta)\beta^{m+n}(1 + \lambda\beta)^{s+t} \\ &= b(A\alpha^{m+n}(1 + \lambda\alpha)^{s+t} + B\beta^{m+n}(1 + \lambda\beta)^{s+t}) - aq(A\alpha^{m+n-1}(1 + \lambda\alpha)^{s+t} \\ &\quad + B\beta^{m+n-1}(1 + \lambda\beta)^{s+t}) \\ &= bw_{m+n}^*(s+t) - aqw_{m+n-1}^*(s+t). \end{aligned} \quad (19)$$

We have therefore proved that

$$bw_{m+n}^*(s+t) - aqw_{m+n-1}^*(s+t) = w_m^*(s)w_{n+1}^*(t) - qw_{m-1}^*(s)w_n^*(t) \quad (20)$$

If we replace n by $n - 1$ and use (14), we obtain

$$aw_{m+n}^*(s+t) - (b - pa)qw_{m+n-1}^*(s) = w_m^*(s)w_n^*(t) - qw_{m-1}^*(s)w_{n-1}^*(t) \quad (21)$$

which is a generalization of (4.1) of Horadam [1], since if $s = t = 0$ we have $w_m^*(0) = w_m$ and (21) becomes the known

$$aw_{m+n} + (b - pa)w_{m+n-1} = w_m w_n - qw_{m-1} w_{n-1}$$

The result (21) is more general than Equation (3.4) of [6] in which there are misprints in the third and fifth lines.

6 Concluding comments

In a similar way we can obtain another generalization of Simson's identity

$$\begin{aligned}
 & w_{m-1}^*(s)w_{m+1}^*(s) - w_m^{*2}(s) \\
 &= (A\alpha^{m-1}(1+\lambda\alpha)^s + B\beta^{m-1}(1+\lambda\beta)^s)(A\alpha^{m+1}(1+\lambda\alpha)^s + B\beta^{m+1}(1+\lambda\beta)^s) \\
 &\quad - (A\alpha^m(1+\lambda\alpha)^s + B\beta^m(1+\lambda\beta)^s)^2 \\
 &= Ed^{-2}(\alpha^{m-1}\beta^{m+1} - 2\alpha^m\beta^m + \alpha^{m+1}\beta^{m-1})((1+\lambda\alpha)(1+\lambda\beta))^s \\
 &= q^{m-1}Ed^{-2}(\beta^2 - 2\alpha\beta + \alpha^2)(1+p\lambda + q\lambda^2)^s \\
 &= q^{m-1}EE_w^s
 \end{aligned} \tag{22}$$

in which $E_w = 1 + p\lambda + q\lambda^2$. Thus we have,

$$q^m EE_w^x = w_m^*(x)w_{m+2}^*(x) - w_{m+1}^{*2}(x) \tag{23}$$

as an extension of Horadam's generalization of Simson's identity which was expressed as

$$q^n E = w_n w_{n+2} - w_{n+1}^2.$$

Note that E_w is analogous to Horadam's E . Finally, we then consider

$$\begin{aligned}
 & w_{n-r}^*(x)w_{n+r+t}^*(x) - w_n^*(x)w_{n+t}^*(x) \\
 &= (A\alpha^{n-r}(1+\lambda\alpha)^x + B\beta^{n-r}(1+\lambda\beta)^x)(A\alpha^{n+r+t}(1+\lambda\alpha)^x + B\beta^{n+r+t}(1+\lambda\beta)^x) \\
 &\quad - (A\alpha^n(1+\lambda\alpha)^x + B\beta^n(1+\lambda\beta)^x)(A\alpha^{n+t}(1+\lambda\alpha)^x + B\beta^{n+t}(1+\lambda\beta)^x) \\
 &= Ed^{-2}(\alpha^{n-r}\beta^{n+r+t} + \alpha^{n+r+t}\beta^{n-r} - \alpha^n\beta^{n+t} - \alpha^{n+t}\beta^n)E_w^x \\
 &= Ed^{-2}q^{n-r}(\beta^{2r+t} + \alpha^{2r+t} - \alpha^r\beta^{r+t} - \alpha^{r+t}\beta^r)E_w^x \\
 &= Eq^{n-r} \left(\frac{\alpha^r - \beta^r}{\alpha - \beta} \right) \left(\frac{\alpha^{r+t} - \beta^{r+t}}{\alpha - \beta} \right) E_w^x \\
 &= q^{n-r} E u_{r-1} u_{r+t-1} E_w^x
 \end{aligned} \tag{24}$$

for $\{u_n\}$ defined in (6). Thus, we have

$$w_{n-r}^*(x)w_{n+r+t}^*(x) - w_n^*(x)w_{n+t}^*(x) = q^{n-r} E u_{r-1} u_{r+t-1} E_w^x \tag{25}$$

as a generalization of (4.18) of Horadam [1]. Further related research can connect these k-Fibonacci generalizations [27,28] to modular forms and integer structure analysis [29].

Acknowledgment: Gratitude is expressed to anonymous referees for comments on the original manuscript; these have considerably improved the current presentation, particularly in relation to the literature.

References

- [1] Horadam, A.F. 1965. Basic properties of a certain generalized sequence of numbers. *The Fibonacci Quarterly*. 3: 161-176.

-
- [2] Horadam, A.F. 1965. Generating functions for powers of a certain generalized sequence of numbers. *Duke Mathematical Journal*. 32: 437-446.
- [3] Horadam, A.F. 1967. Special properties of the sequence $wn(a,b;p,q)$. *The Fibonacci Quarterly*. 5: 424-434.
- [4] Horadam, A.F. 1968. Generalizations of two theorems of K. Subba Rao. *Bulletin of the Calcutta Mathematical Society*. 58: 23-29.
- [5] Carlitz, L. 1954. Congruences for the solutions of certain difference equations of the second order. *Duke Mathematical Journal*. 21: 669-679.
- [6] Carlitz, L. 1964. A functional-difference equation. *Duke Mathematical Journal*. 31: 667-690.
- [7] Singh, Mamta, Shikha Bhatnagar, Omprakash Sikhwal. 2012. Multiplicative triple Fibonacci sequences. *Applied Mathematical Sciences*. 6 (52): 2567-2572.
- [8] Atanassov, Krassimir T., Daryl R. Deford, Anthony G. Shannon. 2015. Pulsated Fibonacci Recurrences. In Peter G. Anderson, Christian Ballot, William Webb (eds), *The Fibonacci Quarterly*. 52 (5): 22-27.
- [9] Singh, Bijendra, Omprakash Sikhwal. 2010. Fibonacci-triple sequences and some fundamental properties. *Tamkang Journal of Mathematics*. 41 (4): 325-333.
- [10] Carlitz, L. 1970. Some generalized Fibonacci identities. *The Fibonacci Quarterly*. 8: 249-254.
- [11] Elmore, M. 1967. Fibonacci functions. *The Fibonacci Quarterly*. 5: 371-382.
- [12] Long, Calvin T., John A. Crawford. 1983. Fibonacci and Pascal. *The Mathematics Teacher*. 76 (7): 472.
- [13] Pruitt, Kenny. 1983. Infinite series. *The Mathematics Teacher*. 76 (5): 315.
- [14] Long, C.T., G.L. Cohen, T. Langtry and A.G. Shannon. 1993. Arithmetic sequences and second order recurrences in G. E. Bergum, A.N. Philippou and A.F. Horadam (eds.), *Applications of Fibonacci Numbers*, Volume 5. Dordrecht: Kluwer, pp.449-457.
- [15] Falcon, Sergio, Angel Plaza. 2009. On k-Fibonacci numbers of arithmetic indexes. *Applied Mathematics and Computation*. 208: 180-185.
- [16] Lucas, Edouard. 1878. Theorie des fonctions numriques simplement periodiques. *American Journal of Mathematics*. 1: 184-240; 289-321.
- [17] Singh, Bijendra, Kiran Sisodiya, Farooq Ahma. 2014. On the product of k-Fibonacci numbers and k-Lucas numbers. *International Journal of Mathematics and Mathematical Sciences*. Vol.2014, Article ID 505798, 4 pages; doi:10.1155/2014/505798.
- [18] Barakat, R. 1964. The matrix operator eX and the Lucas polynomials. *Journal of Mathematics and Physics*, 43: 332-335.
- [19] Falcon, Sergio, Angel Plaza. 2009. Binomial transforms of the k-Fibonacci sequence. *International Journal of Nonlinear Sciences & Numerical Simulation*. 10 (11-12): 1527-1538.
- [20] Shannon, A.G., P.G. Anderson, A.F. Horadam. 2006. Properties of Cordonnier, Perrin and Van der Laan Numbers. *International Journal of Mathematical Education in Science and Technology*. 37 (7): 825-831.

-
- [21] Horadam, A.F. 1999. Quasi Morgan-Voyce polynomials and Pell convolutions. In Fredric T. Howard (ed). Applications of Fibonacci Numbers. Volume 8. Dordrecht/Boston/London: Kluwer, pp.179-193.
- [22] Di Bucchianico, Alessandro, Daniel E. Loeb and Gian-Carlo Rota. 1998. Umbral Calculus in Hilbert Space. In Bruce E. Sagan and Richard P. Stanley (eds), Mathematical Essays in Honor of Gian-Carlo Rota. Boston, MA: Birkhuser, pp.213-238.
- [23] Ernst, T. 2015. On certain generalized q -Appell polynomial expansion. Annales Universitatis Mariae Curie-Sklodowska. Section A, 68: 27-50.
- [24] Sadjang, P. Njionou. 2017. Characterization of certain sequences of q -polynomials. arXiv: 1701.05208v1 [mathCA] 10Jul2017.
- [25] Shannon, A.G. 2014. Fermatian Hurwitz Series within the Fonten-Jackson Calculus. Advanced Studies in Contemporary Mathematics. 24 (1): 129-136.
- [26] Harne, Sanjay, Bijendra Singh, Gurbeer Kaur Khanuja, Manjeet Singh Teeth. 2014. Inequalities among products of Fibonacci numbers. Applied Mathematical Sciences. 8 (101-104): 5079-5082.
- [27] Falcon, Sergio, Angel Plaza. 2009. On k -Fibonacci sequences and polynomials and their derivatives. Chaos, Solitons & Fractals. 39 (3): 1005-1019.
- [28] Falcon, Sergio, Angel Plaza. 2009. k -Fibonacci sequences modulo m . Chaos, Solitons & Fractals. 41 (1): 497-504.
- [29] Leyendekkers. J.V., A.G. Shannon. 2013. The Structure of the Fibonacci numbers in the modular ring Z_5 . Notes on Number Theory & Discrete Mathematics. 19 (1): 66-72.